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EX: S22
By FDAS SHAL
e ZEZ 2IAHRFUEILE2A &9 (2 &HH)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
O=EZ2 Mz 1,000& *3,0005 3,000
O 4=221H]| 60,000 x12& 720
02 E2=2=2%H| 8,960 0 8,960
O&EIIR2 300,000 x12& 3,600
ORI A XHE Hl Al A&l 150,000& »12& 1,800
OosSea 60,000& x12& 720
OFE=2 70,000& «12& 840
OAd= s Xl 2,000,000& 2,000
HMHEAY (2322 H) 152,959 140,927 12,032
ol 2HH| 79,413 67,274 12,139
BxSHYBSESE AH2AY| 29,880 29,880 0
101 121 H| 29,880 29,880 0
02 JIEHR &2 %= 29,880 29,880 0
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ollgaz 1,747 3703 x12& 20,969
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oE4L£AN2LH
1,747,370 «40/35A1 2t%0.84%0.05+12& 1,007
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HRUE SaME o2 49,533 37,394 12,139
101 Q124 H| 48,360 37,394 10,966
ECETESIFESEEP RS 48,360 37,394 10,966
OPIR==; 2,317,430 ~12& 27,810
OY&E sty 2,317 ,430& *80% 1,854
OFHFAH| 140,000 »12& 1,680
OAZ2Z224E 12,965% *150%*15A] 2t 12& 3,501
OdXRasEIxH 12,965% *8A| 2Fx 16 1,660
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OZ222 HAE XTI 23
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303 ZAZ2 1,173 0 1,173
02 80402 1,173 0 1,173
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01 = LHA YI 56,160 59,280 A 3,120
OJlgge=8d 0l 260,000& 18K x12& 56,160
203 R =& 3,600 3,600 0
04 FN2ELSZ=TH 3,600 3,600 0
ORMEERZY 300,000& »12& 3,600
405 THobH S| 3,580 0 3,580
01 AL EFH S 3,580 0 3,580
O&A X L 240,000& 90K 2,160
O3l g dols 2¢ 300,000 14 300
oslg g X 7 160, 000& *7H 1,120




